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o PV AT B T fF 5 F7-99 7 JET 7T 8 T F97 53 &1
Please make sure that the printed pages in this question paper are 8 in number and

it contains 53 questions.
o UTTH H GaH HYT 77 T S T F 5 FAV-JIaw & JEI-gT T G

The Code No. on the top of the question paper should be written by the candidate

on the front page of the answer-book.
o PYF FIT F T [T & HNT T Yeer, FeT E HHE ST [

Before beginning to answer a question, its Serial Number must be written.
o JuT-Yiaer & dia 7 @l G/ 91 7 818/

Don’t leave blank page/pages in your answer-book.

o FUTYRaE & ST g o e T A o SEvEdgar & g e frar sav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
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o gAErefl orgr U To FIT-GH UT SgsT @)

Candidates must write their Roll Number on the question paper.

o YA 49 1 FUT 37 @ (@ 98 FrRad &Y d [ FeT9H {7 T & 8, ThEr & IuT 59
G § 25 4 @ w@hwre T A @

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

e -
JT 9T H AT G E - 3 § T 0T § G J97 G 8

There are four Sections in this question paper : A, B, C and D. All questions are

compulsory.
gug — A
SECTION - A

97 & 1 @ 3 TF [R5 J97 &1 J9% J97 5 3% & &

Question Nos. 1 to 3 are essay type questions. Each question carries § marks.
1. e fm SR & & ¢ @ &
How many types of Observation ? Explain.

STeE
OR

qRepeTT fham TR @ & ? AT ST

How many types of Hypothesis ? Explain.

2. Y A H AIAE H @A H

Explain the inference in Nyaya Philosophy.
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ST
OR
THAMEH & WEY DI AR BT

Explain the nature of Logic.

e =g arg # duar & Eg @ g ?

What are the rules of validity of categorical syllogism ?

ST
OR
Ug &I MG FT 3 7 AR Bl

What is Distribution of Term ? Explain.

g - §
SECTION - B

797 GEI 4 § 8 T TGAUHET 497 81 J9% Jo7 3 3 H &1

Question Nos. 4 to 8 are short answer type questions. Each question carries 3
marks.

QIR T[0T IFHA T 8 7

What is Induction by Simple Enumeration ?

S e 7

What is term ?

g & | o B ?
What is Aprama in Nyaya Philosophy ?

frderor /T B 7

What is Observation ?

qREeIT 1§ 7
What is Hypothesis ?

P.T.O.
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SECTION-C

797 FEq 9 § 13 % ST TgIANT J97 &1 JAH J97 2 3% F &1
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Question Nos. 9 to 13 are very short answer type questions. Each question

carries 2 marks.

AN B 7

What is Svarthanumana ?

STTAM T b STER T & 7

What is the logical foundation of Inference ?

THE H & M o 7
What is the scope of Logic ?

v ST o & 7

What is Scientific Induction ?

9% 9 fafr Fw 3 ?
What is the method of Difference ?

gue - §
SECTION -D

797 GEIT 14 @ 53 7% TG 597 & FO9F 797 1 6% T &
Question Nos. 14 to 83 are objective type questions. Each
mark.

14. STFEE 99 9 A9 & X o 2

Induction goes from general to particular.

15. AP fafy STMTHS BT T Sremia 2

1516

Induction method is based on inductive leap.

question carries 1

(4 (4

True/False
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True/False
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HIEROT M1 AMHT ‘A9 % Thaud”’ T AEmd ol

Simple Enumeration is based on "Uniformity of Experience".

TR TOFT STFHE HROAT TS Har Bl

Simple Enumeration established causal connection.

RRET 71 85 ST & oo &

The scope of observation is ............. than that of experiment.

e a1 fae § B SuE 787 2

Observation has no use in science.

T H & el @l Al 9hd ol

In experiment we can repeat the fact.

TR § B9 HRO § GROMM H oY S Hahd

In experiment we go from cause to effect.

frier @ & ge @ Rufedt B o/ H T B

In observation we can isolate the condition of a fact.

s+ ST 1 SE9T 9 B Wi HT B

The aim of scientific observation is search of truth.

=g %ty qrEmer e o R B

"Method of Agreement" is based on simple observation.

I 3 fafy & & e & faame B

Method of difference has as wide a scope at that of observation.

g AR T H 9YF A SR SgEROMER o R[S S gl

1516
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True/False

(4 (4

True/False

[T /sier

Large/Short

T /o7dcd
True/False

(4 (7

True/False

(4 (3

True/False

T /o7dcd
True/False

T /o7dcd
True/False

T /ordcd
True/False

T /ordcd
True/False

et /oicTced

Joint method of Agreement & Difference can disprove plurality of cause.

True/False

P.T.O.



27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

1516

(6) 1516

9 & Rl s @ Rl R G/ 7
Method of difference is a method of experiment. True/False
qReeaT el T H Hieqd HRCT &l T,/ ST
Hypothesis is the supposed cause of an event. True/False
qRETIAT AT ST &1 T ST B G/ 3T
Hypothesis is one of the step in scientific induction. True/False
giteea T e e fhe gu el & Rlig &Y gt &l /7
Hypothesis may clash with already proved laws. True/False
Rre gt aRecaT M &9 Sl Bl G/
After proof, hypothesis becomes a law. True/False
S IREHT T & § B FH TN & Y oo IR Fod S| HH A,/ A
A hypothesis which proves useful in a field is known as ............ hypothesis.
Working/Real
TH Tl IRHET B ..o TR SMERT &1 =fey) FredaE T /774
A good hypothesis is based on .............. . Real fact/Laws
| =T 399 % e 2 G/
Gautam was the founder of Nyaya Philosophy. True/False
AN At & foF &1 B T,/ ST
Inference is possible without Vyapti. True/False
T § U o A B &/ o7
There are five constituents in Prarthanumana. True/False
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FTAA S T fQ far ST 2, WA Hear ol G,/
The inference which is for ownself is called Svarthanumana. True/False
& aEgell & [ o |y I A Fed ol G,/ 7
Unconditional relation between two objects is called Vyapti. True/False
TBNE TEH oo fom 2 SIS FeT / AIF %
Logicis a ............ science. Normative/Natural
THIME B & TG ..oveen q 2 famre/ @
Logic is mainly concerned with .............. . Thought/Science
THe T & o &1 fae 2 /T
Logic is the science of laws of truth. True/False
THeTe § Aifseh e T8l Bl /57T
Logic does not lead to intellectual growth. True/False
THaTe T 98 JeM S B T,/ ST
Logic gives us real education. True/False
TBA ovveeennnnn. P fo= R [Tl wearsil
Logic is the science of ............ . Sciences/Arts
A A AR e Foeres 2, a1 379 B3 ARy T2 e a7
If both premises are negative, no conclusion can be drawn from them.
True/False
e T MER a FuEeE 8, af ehy ofad e gl &G /37

If one of the premises is negative, the conclusion must be negative. True/False

Th 9 99 § ¥R 08 BN =Rl /7T
There should be four terms in a Syllogism. True/False
P.T.O.
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T g I § O oR dad oY dohded 8N Tiey| T /7T

There should be three and only three propositions in a Syllogism. True/False

gfe I YR A R 2 dF &g Fehy T2 e el T/ HTT

If both premises are particular, no conclusion can be drawn from them.
True/False

T % YR W THad B & TBX eevennnnnn. gl T T[R9,/ T B

According to composition two types of propositions are .............. .

Universal and Particular/Simple and Compound

g & ER T Thare & &l TR YU 9 |ne 2 G/
According to relation two types of propositions are categorical and conditional.
True/False
THe § ~ Sl @1 AN ey & fom g g T/ 37
In logic ~ symbol is used for negation. True/False
g P AR Q ANl o€ & @ P.Q 1 o6 B T /T
If P and Q both are false, P.Q will also be false. True/False




